
Пра в и л а д и фф е р е н ц и р о в а н и я

c′ = 0; x′ = 1; (cx)′ = c;

(cf(x))
′

= cf ′(x), где c = const.

(f(x) + g(x))′ = f ′(x) + g′(x); (f(x)− g(x))′ = f ′(x)− g′(x)

(f(x)g(x))′ = f ′(x)g(x) + f(x)g′(x);

(

f(x)

g(x)

)

′

=
f ′(x)g(x) − f(x)g′(x)

g2(x)
, g(x) 6= 0

Д  иф  ф  еренциро  в  а  ние  слож  но й ф у нкции:

(f(g(x)))′ = f ′(g(x)) · g′(x).

Та  бл  и  ц  а  п  р  о  и  з  в  о  д  н ых

f(x) f ′(x) f(x) f ′(x) f(x) f ′(x)

xn nxn−1 ctg x − 1
sin2 x

arcsinx 1
√

1− x2

ex ex secx sin x
cos2 x

arccosx − 1
√

1− x2

ax ax ln a cosecx − cosx
sin2 x

arctg x 1
1 + x2

ln x 1
x shx chx arcctg x − 1

1 + x2

log
a
x 1

x ln a
chx sh x arshx 1

√

x2 + 1

sinx cosx th x 1
ch2 x

archx 1
√

x2 − 1

cosx − sin x cth x − 1
sh2 x

arth x 1
1− x2

tg x 1
cos2 x

xx xx(1 + ln x) arcthx 1
1− x2


